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Quiz 5—Friday, March 6

X 1 2 3 4 5
1. (4 points) Two functions
f and g have values as f(x) 3 0 4 10 6
given in the table on the £ 7 10 4 4 3
right. Evaluate (and
simplify) the following g(x) 5 6 0 2
derivatives. g'(x) 11 8 6 -1

a. If h(x) = f(g(x)) then K'(1) = -F?5(0>3’rr) = &1\ =311 =33
b. If S(x) = g(f(x)) then $'(1) = §'@aHFory = 9(2)7=8.7=56

c. If U(x) =f(x?) then U’'(1) = 21-FCtN=27= W
Wix)= 2x£71x*)

d. If m(x) =g(g(x)) then m'(1) = 3'(5(1)) 3’(;) = 3'(5} 1"

= 11l = -{{

2. (3 points) Evaluate (but do not simplify) the derivative:

d
Esin(xz) = Co» (’&)-Zd = 2% CeS (‘X?—\

3. (3 points) Evaluate (but do not simplify) the derivative:

d .
asmz(x +5) = 28in (x+5) tos (,‘..,.5')



